options given.
1. Fill in the blank in the sentence below choosing the most appropriate verb from the op

Each of the students _ responsible for maintaining the school garden-

(A) is (B) must (C) are
(D) were (E) Question not attempted

2. Fafafed § S svd qwm w3
(A) fugs (B) 3T ) Fa™
(D) gaw (E) ST3afa yeq

Read the following passage and answer the questions that follow :

i ar,
Come February, love or something like it is in the air. And chocolates fly off shop shelves. This ye
however cocoa prices hit record high.

Global chocolate industry is dominated by the “Big Five” - Hershey, Mondelez, Mars, Nestle tliI:)cj
Ferrero with West Africa providing most of the cacao. Cacao plants grow only 20 degrees north and sou
the Equator. Geography has made South Indian States home to unique varieties of cacao.

Cacao beans are rich in flavanol, which can lower blood pressure. This property has 'critcg,tg,'ered'contrOVE?I'Slal
claims about dark chocolate’s medicinal properties. Some of the research supporting these claims has been
sponsored by the Big Five. But what's not in dispute is that cacao is rich in nutrients. It makes its do@s’cream
products a potential superfood. But the catch is that the end products such as chocolates contain other
ingredients. Sugar or low quality oil, etc. Therefore, its the combination of ingredients and the manner of
processing cacao that holds the key.

The last decade, an adventurous breed of Indian chocolates have transformed locally sourced cacao
into artisanal chocolates. Getting the most out of cacao’s nutrients and limiting unhealthy ingredients such as
refined sugar have been integral to this journey. Vegetable oil and cocoa butter, is often used to lower costs
in mass market chocolates. But that’s not an ingredient super premium chocolates will use.

Preserving the nutritional value of cacao depends on the process used to transform it into chocolate.
That's really the key to earning the superfood label. India’s artisanal chocolatiers can get this label without
resorting to measures used by the Big Five.

India has a growing consumer base that is discerning and health conscious. Chocolates sourced and
made at home, with unique flavours that appeal to Indian and global taste buds, can do even better. If India’s
chocolatiers play their cards well, Indian chocolate brands can become super premium, exportable brands.

3. Complete the sentence below choosing the most appropriate answer from the options given below.
Chocolates fly off the shop shelves in February because :
(A) They have medicinal properties.
(B) The weather in February creates a craving for chocolates.
(C) People gift chocolates to the loved ones on a special day in February.
(D)  Cocoa prices hit record high.
(E) Question not attempted

4.  Complete the sentence below choosing the most appropriate answer from the Options given beloy.
Indian chocolatiers have transformed locally sourced cacao into premium artisanal choc ol
(A) not using cocoa butter and lowering prices of chocolates

(B) importing cacao from West Africa

(C) limiting the use of unhealthy refined sugar and extracting the most out of cacagrs nutrients
(D) lowering prices of chocolates by using vegetable oil

(E) Question not attempted

ates by -
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Complete the sentence belgy, ch

00sing the most appropriate answer from the options given below.

5. #Big Five” in ch
The “Big I1 ocolate Ing .
(A) Mondelez, Mars, HerSheyuslgms are :
(B) Ferrero, Cadbury, Mop, del’e érrero and Nestle
(©) Cadbury, Hershey, Mars MZ Mars and Hershey
(D) Nestle, Ferrero, Mondele’z ((Z)nddez anc. Nestle
(E) Question not attempted » “adbury and Hershey
lete the sentence be] .
6. Iiig;pcan become the Supe?;:;:l?j;:gbme most appropriate answer from the options given below.
( A) import cacao from West Africa randed exporters of chocolates if they :
(B) process the cacao as the “Big Five” did
C) home source raw material, limit X A .
gD) use low quality oil and reﬁnzlilt;::ga:nhealmy ingredients and add unique flavours
(E) Question not attempted 8
7. Match List-I with List-II.
List-I List-II
@) Chc?colatiers (1) Items combined to make a particular food or drink
(b) Artlsan:fll (if)  Those who make and sell chocolates
(c) Discerning (iii)  Skilled
(d) Ingredients (iv) Showing good judgement
Choose the correct answer from the options given below :
(A) (-0, )G, (©)-(id), (d)-Giv) (B) (a)-(iid), (b)-(iv), (0, (@)-(ii)
©  (a)ii), (b)-Giid), (9)-(iv), (D)-() (D) (a)-iv), (b)-(), (0)-(i), (d)-Gii)
(E) Question not attempted in's
8.  Select the option that is the most appropriate substitute for the statement given below :
Someone who believes that there should be extreme change, often political. .
(A) Convert (B) Fanatic-— (C) Reactionary
(D) Radical (E) Question not attempted
9. Choose the most suitable word to complete thfe following sent(?nce P
A person who has no interest in or understaflfin?g of arts and literature is a =
(A) prodii (B) philistine (C) critic
(D) Echo]ag:ous (E) Question not attempted
0. ‘i & fom wEd o e G TR E
(8) v B (©) #mr
D) (E) aRd T
. st suitable Preposition from List - II.
1 MatCthhe blanks in List - I with the mo “ 1 List - II
ist - I . sugar in my tea. (i) upon
(@) Ioften use honey as a Su_bsbh;te " Piccaso.. (i) to
(b) His style is faintly remif‘lsfen m/y/rg;,utation. I (iii) for
(©)  She is intent T tarnlsmtr;ge fact that his father (iv) of
(d) He had to reconcile _— ol
- would never return. wer from the options given below :
e e most appropriate FIC, (B) | (a)-(iv), (b)-(ii), (©)-(id), ()-()
o @), b)-(iv), (9)-6) ( i) (D) (a)-(iii), (b)-(i), (c)-(iv), (d)-(ii)
©  (a)-(i), (b)-(ii), (c)-Gv) (@
(E) " Question not attempte
3
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12.  Select the most appropriate verb form to fill in the blank in the following sentence-
Neither she nor I getting the Trophy this year,

(A) are (B) was;L. (C) is
(D) am (E) Question not attempted
13.  gEi-1 & 91 Gei-11 1 faem S|
Gelt-1 ( 71%) Geit-11 ( TATEaT=t )
() T (i) IREE
(b) 3 (i) oA
(c) FF (i) TR
(d) Ffwa (iv) 9|
=t o T foreedl # & waifi Suge o =9 Fifvg ;
(A)  (a)-(iii), (b)-(i), (o)-(iv), (d)-(ii) (B)  @)-(ii), (b)-), (c)-(iv), (d)-(iii)
(©)  (a)-(iii), (b)-(i), (c)-(ii), (d)-(iv) (D) @-(iv), (b)-(i), (c)-(iii), (d)-(ii)
(E) rgaied
14.  Select the most appropriate option to add the correct Suffix to the underlined word in the given
sentence :

My son delivered a praise speech at the International seminar on Child Rights.

(A) able (B) rich < (C) ridden
(D) worthy (E)  Question not attempted
15. Complete the sentence in List - I by choosing the most appropriate prefixes from List - II.

List - I List - IT

(@) The committee met to appraise its members (i) mis
about the indiscipline cases in the school.

(b) The Covid research is now classified information. (i) de

(c) Thope you do not nurse any ____ conceptions abouf me. (iii) re

(d) Iwas__ informed about the case as [ was fed~ - (iv) il

inaccurate details.
Choose the most appropriate answer from the options given below :
(A)  (a)-(iii), (b)-(iv), (c)-(i), (d)-(i) (B)  (a)-(iv), (b)-(0), (c)-(iii), (d)-(ii)
©)  (a)Gii), (b)), (0)-(i), (d)-(iv) (D) (a)-ii), B)-), (©)-(iv), (d)-ii)
(E)  Question not attempted
16.  Select the most appropriate option to fill in the blank in the sentence given below :
By the end of March, I doing this job for six-years.
(A) was (B) have been - - (©)  will have been
(D)  will be (E)  Question not attempted

17. SIS GoTH, BT a1’ GemR 1 ST 372 1 ST 2 .
(A) T 9 Feam R ¥ (B) T ehgrt @A @EL(C) T TR T e

(D) 7d G & B (E) raRa wed

18.  Select the most appropriate option for the translation of the following term :
Agenda
(A) T (B) siftrgsrn © i
(D) R (E)  Question not attempted
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19.

20.

21.

22,

24,

26,

ost appropriat i
Selectthem P ate opy .
ovember, next year she Plien to fi in the correct form of verb in the following sentence :

N
?)’ will have completeq ~———— her second book of poems.
D) had completed (B)  has been completed (C) completed
§ vt 3 et arg (E) " Question not attempted
(heq 5y A IS |

(by igm - femiy, ferss, THa
(d) WFET - THE, ATHE, AT

Fad (c) IR (d)

(A) (B) ae (¢ ¥ (a
) ¥ ) 3 e) & (b;;ﬂr © (C) % (a) 3 (d)
T&l-1 % 9 -1 1 e i

-1 (i) T

-1 (¥1s])

(4) ol 0 BRI @ A
() FEAT T () S
() g e (i) e
(d) o <t forie STHeRIY T aren (iv) ST
3 frg ot H X Wt ST S w1 W wi -
() ()-(i), (b)-(iv), (c)-(ii), (d)-(1) (B). (a)-(iii), (b)-(3), (0)-(iv), (d)-(ii)
© (@) (b)-(id), (c)-(iii), (d)-(iv) (D). ()-(iv), (b)-(id), (c)-(i), (d)-(ii)
(E) A W7 )
Select the option that is normally not a feature of a formal letter.
(A) Clarity of language (B) Precise subject (C) Salutation
(D) Quotations (E) Questjbq. ?ot attempted
frefafaa 44 ergg o © -
(A) T T T T (B) T W <A1 ST ST (© T = w s
(D) fech i wR e g1 (B) 700
1 A ¥ vt W T € 7

(@) a by TR (@ FEE (@) @i (o)

1% o e 3 4 et SR S T A
() (a) 3 (o) (B) ¥ () W) (© ¥ (@) MR (d)

(D) %= (b) iR (d) (E) -
e s & e 7 A I

(B) Theaction is expected

A o
) Not any action is Compulsory (D) No action is necessary

) The action is necessary

®) s e

ettt & § o - g1 ¥ XA

(A) - R IR @) T (C) AU-TR
T () TN

LT 2 P.T.0.



27.

28.

29.

30.

31.

32.

33.

. : lish *
Select the most appropriate option to translate the given Hindi sentence into Eng

YN T WER | /R el € &

(A) Asha has learnt to drive a car since a month.

(B) Asha had been learning to drive a car for a month,

(C) Asha has been driving a car since a month.

(D) Asha has been learning to drive a car-for a month.

(E) Question not attempted

“riveR’ W Hfy fa=g ®

(A) T+TWR (B) T+ TR (© M+
(D) TR+ T¥eR (E) SITAd 9%

Choose the most appropriate Prefix to complete the underlined word in the sentence given :
The patient hasn’t complained of any ___ comfort.

(A) wunder (B) dis ©) mis

(D) un (E) Question not attempted

Select the most appropriate option to change the following sentence into its Passive form.
I think they should have offered Hari the job.—

(A) I think Hari would have been offered the job.

(B) I think Hari had been offered the job. -

(C) I think Hari should be offered the job.

(D) I think Hari should have been offered the job.

(E) Question not attempted

“foqiia’ sk & faT yga S are SEEe v R

(A) focim (B) T (© ™
(D) =¥ (B) STIaRE oA
frefafaa 5 @ ‘e’ wr g §

(A) w=_A (B) STmI (C) <=
(D) T HUR (B) oTguRa 9o

[t-1 & WY Gei-11 1 e Sifs) Y
eI ( Seie) o gER-II (TR )
(a) forem <=1 Ted gen & (@)~ F
(b) TR TIT IUHR T Y[t W ATl (i) 3m
() FEHRITH B g @ (i)  Fa=
(d) o g S Y A e (iv) " o
TR T feeedi § A waifire Suga S 1 =g T :
(A)  (@-(i), (b)-(iii), (c)-(iv), (d)-(i) B) (a)-(iv), (B)-(i), (O)-(i), (d)-(i)
(©)  @-Gi), B)-G), (o)-(iv), (d)-(iii) (D)  (a)-(i), ®)-(v) (©)-(i), (d)-(iii)
(E) STIRd

3 P-2/K12 6




34.

35.

36."

37.

38.

39,

@,Ia‘;m&aﬁ—nm%wl

Fet-1 (31 )
@) e T 9 e gy _ =11 (fRar 9%)
o) g TEHL A § (l) RCEDINED
@ TATTH TG P
T e o

) (@), (B)-(v), ()-(), ()i B - . .
A o), B-0), (OGi), @y (B) (@), (-G, (©)-iv), (D)
7 i @G (©) @), b)), (-G (@)
Select the most appropriate option to tr
She owed her success to my support.
(A) TR TECAR AR AR @R () R e & o o e A

() T T TEA & | (D) e 1o e ¥ feg Y w1 = &
(E) Question not attempted

anslate the given English sentence into Hindi :

Choose the most appropriate Conjunction from the options given to fill in the blank in the sentence
below.

You cannot participate in the contest you clear the interview.

(A) better (B) whereas (C) so that
(D) unless (E) Question not attempted

‘e G ST & H AT e R R ?

(Fr1 1 2 el Suga fased 94)

(&) fat (B) © =
(D) wE (E) 3Iaid &

freferfas 3 @ 9 el @ o o €

@ fem () & (© affE () w (e) TR
Y R T fered 1§ WAt SUgE SAUH < HIT :

() ¥ (b), (c) 3R (d) (B) 4 (a), () M (e)
© ¥ (b), (d) 3R (©) (D) F (@), (b) IR ()
() srgaf@ww
-1 ¥ @y eft—11 =61 Tt Hiroe!
-1 (%Ti) -0 (VD)
() oy @ I
(b) wenfy @
© = (iii) <
(d) w5 (v) T -
T R 1 ey o @ Al W;'a?:)w e,
(A) @i, (b)), (0)-Gv) @) ﬁD) @) 8;’) AQARA (g):(l.“)
© @), o)), (©-6) (@) r (1), (-, (@-6)
(E) S RRIEGREE]

T P2y 7 P.T.0.



40. “SmE-anar’ weR g o W ared v Ao

(A) T e-fom gt (B) T TEt-gs (© faiE-a
(D) form v (F)  orgufia wyq

41. ‘o IR TR I I A W ayef
(a) W (b) 3w () g (d) e

ﬁ%ﬁqwﬁm?ﬁﬁmf&mmmmmaﬂmz

(A) 3 (o) s (o (B) ¥ (a) 3t () (©) (@) A ()
(D) Fad (b) 3K (d) (E) oafa gea
42. gEi-1 %?mgsﬁ-nquamﬁﬁql
-1 (& v ) -1 ( 3tsh g )
(a) e (i)  Resolution
(b) HFe™ (ii) Circular
() ufaafa (iii) Office-Memorandum
(d) ufm= (iv) Press Note
ﬁ@mﬁmﬁﬁﬁmmwwwzﬁm:
(A) - (a)-(iii), (b)-(3), (c)-(iv), (d)-(ii) C(B)  (@)G), (b)-(ii), (c)-(iii), (d)-(iv)
© Q-G (b)-(ii), (c)-(iv), (d)-() . D) (@)-Gv), (b)-(iii), (c)-(i), (d)-(i)
(B) Sgaf@ys

43.  Select the most appropriate option to translate the

ST hel HA9T Q|

(A) Ajay will definitely come tomorrow.
(C)  Ajay will sure come tomorrow.

(E) Question not attempted

4. "u-fu' v g o s aved g g

given Hindi sentence into English :

2.(B)  Ajay shall come tomorrow surely.
. (D) Ajayis coming tomorrow.

(A)  fen-<m (B) <rht-i © g
(D) <rar-wedt (E) orgafa ye

45.  Choose the most appropriate Conjunction to fill in the blank in the following sentence,

or not my mother permits, I am going to the movie hall.

(A) Whether (B) Iff. (©)  Unless
(D) Until (E) Question not attempted

46. ‘W F facim w3 C
¢ m (B) fey... © e
(D) s () SR e

47. "0 T e s v o’ s 2
(Fre 5 & ey s e %) )
(A) (B) arex firy ©)  war=
(D) HEE= (E)  Srgafe wem

£t P-2/K12 8
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et

a) T (B) e (C) w«
o (B) argafa wed
ds in List - T o
) Match th(: _wlor s in List - T with their definitions in List - IL.
o mics Lish- II
(a) Efgonfm 1 (i)  Automatic translation by identification systems
b) B;ofe.c. IOI otg}l,l' (i) Connecting electronic devices to each other with no wires
() Artificial Intelligence (i) Design of environments for people to work efficiently and
comfortably
(d) Bluetooth . (iv)  Genetic modification of plants
Choose ﬂ“? most :a_PPl‘Oprlate answer from the options given below :
@) @0 O, 00, @6y (B) (3G, (b)-G) (©-Gi), (&)-(v)
8 gﬁég‘;)&fbg;(t“g&éz;?'d(d>-<ii> (D) (a)-(iv), (b)-60), (0)-Gi), (d)-(ii)
e

0. frefated A IS IS ¥
(a) Free (B), S (C) e
(D) WgH (E). eTgef 7o

i1, Select the most appropriate option t§ ﬁll in the blank in the given sentence with a suitable Conjunction.
lcouldn'tsleep ___ very tired—
(A) in spite of I was (B). although I had (C) despite I was
(D) despite being (E)” Question not attempted

. T 33 i e T R T &2
(A)  SfRETT (B)] (O oTEER
(D) weltem (B) STgard e

53, Frerffim 3 4 s ‘e B SR 7
(A) HeFew (B) ST (C) THEH
(D) fera (B) ST e

54, Select the most appropriate option to translate the given Hindi sentence into English :
T 1wt oy HT oA B Y
(4) They will all be busy with th(?lr gwn work.
(B)  All will be busy in own WOfk' Y
(C) All of them are busy in their .WOI'_ Sl;
(E) They all will engaging in their work.
() Question not attempted '

55, ¢ :
AR iy foe i o o TR 7
(=13 3 iy Suger fashed =)
(A)  for () L (€) =
D) =g (E) T e

{3 p.
2K12 ? PT.O.
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. entence -
56.  Choose the most appropriate Prefix to complete the underline vens

d word in the gi

. da
. . . niot seconcary
The risks far ___M} the potential benefits of an open book examination for 5€
students.
(A) mis (B) e’ (C) over
(D) out (E) Question not attempted

Read the following passage and answer the questions that follow :
Like Aranmula Kannadi, Balaramapuram Kaithari saree, Killimangalam Mat is K
heritage product that needs to be marketed globally,
The century old tradition of making mats from the Kor
Chittur Puzha is dying without any takers in the market.

Sindhu has been making mats for over a dec
found the craft fascinating.

The craft of weaving is highly labour intensive and the ra

The matured grass is first harvested by the locals and they dry each blade of grass in the sunlight after
removing their tissues. The dried grass is then trans

ported to the village for around Rs. 3OQ per kgbas_ll? =
order. At Killimangalam it again undergoes more treatment processes, including washing, dyeing and boling
before they are sun dried again.

The dried grass is then placed on the handloom and fas
deft fingers of the weavers. An artisan takes a minimum two d

any designs on it. The mat is so tight that nearly 2 kg of grass is requried to make it. It is the boiling process

which makes the mat last for more than 25 years and the dye remains intact. For this reason, the finished mat
is a bit expensive and their clientele consists of mostly upper middle-class people and business establishments.
A plain mat costs Rs. 2,500 and a designed one can cost up to Rs. 10,000.

They used to get moderate commission from the sales of the

especially outside the state and exhibitions were a great way to co
shows taking a hit, their revenue streams have been drying up.

57.  The Killimangalam mat is ti
(A) more than a life time
(C) almost 25 years
(E) Question not attempted

58. Complete the sentence below choosing the most appropriate answer from the options below.
The Killimangalam Mats of Kerala are expensive because

(A) they are not of intricate designs
(B) Kora grass has become extinct
(C) they are made from Kora grass

(D) the raw material is costly and the craft of weaving them is labour intensive
(E) Question not attempted :

59.  Sequence the followin
the options below, o
(a) The finished mats priced between Rs; 2,500 to Rs. 10,000 are now ready for beip
(b)  First the matured grass is harvested and after removing their tissues, they
(c) Itis then transported to the Killimangalgm village where further tre
washing, dyeing, boiling and sun drying are done.
(d) Today the exquisite mats from the Kora grass are dying for want of t
while to examine the process of makihg them to save them.
(e) Itis then placed on the handloom and woven into intricately p
Choose the most appropriate answer fr

erala’s indigenous

banks of
a grass that grows abundantly on the

. he
ade now and says she had joined the profession as she

W material is costly.

hioned into intricately pattern(::d mats l?t};lthe
ays to weave a six-feet-long plain mat without

mats, which had fairly high demand,
nnect with customers. But with trade

ghtly woven requiring nearly 2 kg of grass and lasts
(B) _hardly 25 years
(D)~ more than 25 years

g statements in their logical order and choose the most appropriate answer from

g marketed.
are sun dried,

atment procesgeg including

akers, so it would be worth

atterned mats by skilled weavers.

A) (b, (d), (c), (a), (e) Oméhe options given belzw)v:
(@), (@), (b), c), (e), (a
© ©.@60 0 2&8@“8@
(E) Question not attempted . (e)
{} P-2/K12 o
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60-

61.

62.

63.

64.

65.

66.

After tWO days of intensive laboyy
) @ siefeeriond Plain mat wigy,, g Y E
B @ colourful mat with designs op, - esigns on it
© 2 six-feet-long Plf?lin mat w;
p) afivefeetlong tght mat
( ) Quesﬁon not attempted
complete the statement/. Sentence be]
Ker Ala’s indigenous herltage produc
) Kerala cashew products

Kerala coir products
The Kochi Chinese nets

The Aranmula mirror, Balara il
?E))) Question not attempted mapuram handloom saree and the Killimangalam Mat

» @ mat weaver produces

th intricate designs on it

Ow choosing the most appropriate answer from the options below.
ts that need to be globally marketed are

4a§@ﬁmmm%’mm“m:
() ¥ (B) == © <
) (B) srpefia v
'mﬂwm’waﬂ Af ¥ .
(A) W%Waﬁm (B) ~eTeeia i hell
() T i | T (D). 7o S H GEY 1 TS HAl
ki >~ psTC et
Match List-I with List-IL ‘M ESH _g%
List-I (Word) List-II (Synonyms) _%- ) = “\£ -
(@) Lethargic (i) Tactic PE: .92.6 o898
(b) Ploy (i) Drag ~ - S
(¢) Trail (iiiy Dormant -
(d) Latent (iv) Indolent

m the options given below :
(B) (@)-(iii), (b)-(ii), (c)-(i), (d)-(iv)
(D)  (@)-(1v), (b)-(), (c)-(ii). (d)-(ii)

Choose the most appropriate answer fro
(A) (@), )-(ii), ()-(iv), (D-)

©)  @-{i), (b)-iv), (c)-(i), (d)-1)

E) Question not attempted

on to fill in the blank by using the correct degree of adjective :
I think the mango is fruit. I can have as many as four at a time.

(A)  the more delicious (B) the much most delicious (C) a delicious

D) a hardly delicious

Select the most appropriate opti
(E) Question not attempted

’ . . ’
Recommendeq for favourable consideration

(P74 8 ey gt v &) |
@ mﬁm‘%"mﬁf@m%a (B) ST Pre i e 1
o (D) ST fo e e 6 e €1

11 P.T.O.



67. Tr=fafaa & fom wsdi ' ot werm e get € ?
@) f@Eae (b)) Wewe () W (d) ez (e) oM
= fqw Ty faeredl # § waifuss sugad 31 =0 Fifu
(A) FId (a) 3R (d) (B) % (a) 31 () () ZFad (a) 3 (b)
(D) HaA (a) 3 (c) (B)  3rafia ue

68. fr=ifafaa § @ & ar @ w= wifs)
(A) I H [GH ST Y107 @I 74T | (B) YR 2@ A 3wrn gyor g |

(C)  IRH AGH ITH WV GE T | (D) YR ey 3ok iy 7 10|
(E)  1gafa W

69. Select the most appropriate word from the options provided to fill in the blank in the given sentenc
I am not to a steaming hot cup of coffee after dinner.
(A) averse (B) advert (C) adverse
(D) avert (E) Question not attempted

70. ‘T3 + Seyor’ it for=d% @ o o wrsg B
(A) e (B) & () Fra
(D) TfRem (E) 31afa g

71. S v g1 o frefafed § @ @ s st e w2
(A) e (B) Tfast @ TR
(D) - fo=m (E) STIRa o

72. Frefafed § @ 9a-fvn v w e w9 ®
(A)  TR-TES (B) HE-HIHH (C) drs-dlies
(D) TR-AMEH (E) SrgufdysH

73.

Complete the blank using the most appropriate determiner from the options given below :
We couldn’t do shopping as the shops were being forcibly shut down by the police.

(A) lots of I (B) much (©) many
(D) few (E) Question not attempted

74. TefafEd 4 4 FH-m s o' et @ fffa i €2
(A) e (B)  STquy (C) 3Em
(D) - #§E (E) ergafia wed

75. ‘FAfE @ faam &
(A)  F0M (B) W@ (©) wEfaw
(D) TaE (B)  svafe we

76. T 1 8 EH Y5 ol g vk § 2
(a) D (B) e ©) =frs
(D) = (E)  svyafea we

L3 p-2/K12 12
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79.

80.

81.

82.

83.
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gelect the mOTf :;I::Pr}ate option to transform the given sentence into Reported Speech.
The traffic pO f;ic : said to him, “Show me oz driving licence.”

(A) The szﬁz P ;fce demanded his driving licence.

(B) The t i P Ol?ce requested him to show his driving licence:
©) The tI':f ﬁC P lfce ordered him to show him his driving licence.
( The traffic police told him to show him your driving licence.

(

D) .
Question not attempted
the underlined wo : )
ce rds with a single most suitable word of the same meaning from the options

Re la
giviﬂ pelow :
Icouldn"f }.)repare well for my exams as I was plagued by an unpleasant and painful headache the
revious night.
jatin
(A) e:cisaa 8 (B) disoriented (C) ensuring
(D) P . (E) Question not attempted
i 8 I W 70 0 ane A 22
(A) jﬁz (B) W& ©) FE
(D) (E) orgafd 7%
gree of adjective in the sentence to its

ect the most appropriate option to change the given de

Sel
without changing its meaning :

comparative degree in the following sentence,

Arjun is the best boy in our class.

(A) Few boys in our class are better than Arjun.
(B) No other boy in our class is as better as Arjun.
(C) Arjunis best than all the boys in our class.

(D) Arjun is better than any other boy in our class.

(E) Question not attempted
‘m—w’wﬁmﬁ:@ﬁﬁﬁmmmm%?

(Frer 2 el S farehed ) ;
(A) S e R (B) ¥ ek el () ik fspal
(D) G serehs fohall (E) 3TgTRa T
b from the options given.

e below choosing the most appropriate ver

d this experiment to prove their point.

Fill in the blank in the sentenc
conducte
(C) were

Many researchers
(A) have (B) are
(E) Question not attempted

(D) has

‘This may be suitably amended’ 1 & TR T :
(4) Wﬁmﬁsﬁmﬁmmm%l (B) SR Wi T el T €
(€) wifyd 9= 3q St I | (D) 7% T ferespet 91 €|

(E) i@y ‘
form of the sentence given, from the options provided.

Choose the most appropriate Affirmative
class.

g:lrry up so that you don’t miss YO

(B)) Hurry up, lest you should mis$ your class.
C H“n'y up and don’t miss your class.

( ) Don't hurry and don’t miss your class.

(

MiSs your Class’ if you don’t hurry up-

Question not attempted
13
P.T.O.



85. freifafed ¥ & w-ur o styg &7
(A) RugTHisEy A Fmata ) (B) T UH R e R E?
(C) T TEwE yen A Ewdl (D) TR A F wwh m v :
(B) e1gafa we

86.  WEI-1 % W FeR-11 ¥ figer Ffa

'{:Eﬂ'_l(qq-m) ‘{{Eﬁ'—l[(ﬁm)
() ST g ) forawa H < we gam A |
(b)  TeqEw T (i) fore T ST S g
() TEw™ (i) TorF T % RAT G TUE
(d) wgshfe Tmm (iv) o T 1 gd @< v
A= R T ferehedi % ) watifuer suge S0 H T F
(A (@)-(iid), (b)-(iv), (c)-(i), (d)-(ii) (B)  (@)-(iv), (b)-(ii), (c)-(iii), (d)-()
©)  @-G), (b)-(iv), (c)-(iii), (d)-(ii) (D) (a)-(ii), (b)-(iii), (c)-(i), (d)-(iv)
(E) Srgufaww
87. Trfafea ®'qa’ = fagms. 21
(A) @ (B) We (© g«
(D) d= (E) STqaid we
88. G-I % Wo Geft-11 w1 firer ifirm |
-1 ( qeraw ) Eit-11 ( 31k )
(@) T W TR e @) 09w W
(b)  3Teff 1w B (i) SR e
(©) 3 wEw e (i) ST IR sTEva = o
(d) 3R &% & (iv) STHwadHam
ﬁmmmﬁﬁmwmmwﬁm
(A)  (@)-(i), (b)-(), (0)-(iv), (d)-(i) (B)  (@)-(i), (b)-(iii), (c)-(iv), (d)-(ii)
(©)  (@)-Gi), (b)-(iii), (co)-(iv), (d)-(i) (D) @-Gv), (0)-Gi), (o)), (d)-(i)
(E) Igafd yed
89. ieﬁ(;tn S;e most appropriate option to transform the following Assertive sentence to an Interrogativ

Vijaya is the new English professor.
(A) Who is the new English professor ? - (B)
(C) Isn’t Vijaya the new English professor 2
(E)  Question not attempted

How is Vijaya the new Ep

g glish professor ?
(D) Wasn't Vijaya the new Ep,

glish professor ?

90. Select the most appropriate option.
When writing a formal letter,
(A) Dear Sir/ Dear Madam
(C) Hello Sir/Hello Madam
(E) Question not attempted

what salutatlon do we use if we do not know the re
(B) Greetings Sir/ Greetings Mz
(D) Dear Mr./Dear Mrs,

Cipient’s name ?
dam

3 p-2/K12 14
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93.

94.

95.

96.

97.

98.
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Fill in the blank with the most appropriate Preposition from the options given below :
There was a long queue of people the post office.

(A) frOIIr1 (B) at (C) by
(D) o°ve (E) Question not attempted

i< B TS @ S 3 fe e s

() R (B) (© =i
(D) (E) orgufa e

nce give : g .
For the sentence given, choose from the options provided, the most appropriate sentence in Reported

Speech.
ghe said, “The receptionist directed me to the wrong room.”

(A) She sa?d that she had been directed to the wrong room, by the receptionist.
(B) She said that she was directed to the wrong room.

(C) She Safd that the receptionist had directed her to the wrong room.

(D) She said that the receptionist directed her to the wrong room.

(E) Question not attempted

@-I%mmﬁr—nwﬁaﬁm,
gelt-1(315%) FER-11 ( watearet 91 )

@ @ @) =

(b) foe (i)

€ & (i) T :

(d) 3 (iv) TR

3 few U fomedl o @ Walfires Suged ST 1 941 hifeT :
(B) - (a)-(iii), (b)-(iv), (c)-(i), (d)-(i)

(&) (@)-(), (b)-(iv), (©-(iD), (d)-(i) ,
© (@), (b)-(id), (e)-(ii), ()60 (D)= (a)-(iv), (B)-(Dr (c)-(iid), (d)-(iD)
(E)  TTuied 7% o

e v P 8 @ fere W S o R g e ?
(A) IR F 9 AT G | (B) Tem I EHA| (€) AR I
(D) WM: F W (B) TR o

Select the most appropriate opposite in meaning to the underlined word in the following sentence.

He looked PEEVISH when asked why he was late.

(A) Perverse (B) Diffident
(D)  Amicable (E) Question not attempted

Fill in the blank with the most appropria
What would you like to eat ?” .,
in the fridge, may be.

(C) Irritable

te determiner.

I don’t care! you've got Y
(4) Anything (B) Nothing - (C) Everything
(D) Something (E) Question.not attempted
Pt 4 i v o et 76 ¢/
(A) 39 (B) qIER (C) S
2 PT.0.



99.

Match List-I with List-II.

List-I (Word) List-IT (Antonyms)
(a) Munificent (i)  Decline
(b)  Jubilant (i) Heterogenous
() Accept (i) Miserly
(d) Homogenous (iv) Gloomy

Choose the most appropriate answer from the options given below -
() @-Gi), ©)-(v), (©-(0), (d)-(ii) (B)  (a)-(i), (b)-(ii), (c)-(iii), (d)-(i¥)

(©)  (@)-(i), (b)), (©)-(iv), (d)-(iii) (D) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(1)
(E) Question not attempted

100. Select the most appropriate option to fill in the blank with the correct form of verb :
Vijaya is my best friend. I her for years. :
(A)  knowing (B)  had been knowing (C) have been knowing
(D) have know (E) Question not attempted
101. Frfafed § R SH-w REu T 2
(A) i@l ¥ A i (B) M & i (C) Ted A AT
(D) fora = A s (BE)  oTaf@ e
102. Tr=fafad 3§ =1 sum gea vt &1 S 2 _
(A)  foemm (B) <M (C) A
(D) sfEmn (B) oTgaRd we
103. f:+W= ‘W'%wﬁqﬁf@aﬁ%Mﬁﬁxﬁm%?
(F=1 # 4 W Suge fase o)
(A) T (B) fermt- (C) T
(D) @i (E) A
104. Selec.t the most appropriate o_ption to identify the incorrect segment in the following sentence.
The judge concluded that / either the maid or the driver were / responsible for the murder
&) @only o %
c) only B) No error C ,
(D) (b) onl = : , (9 ) oty
y (E)  Question not attempted
105. Select the most appropriate synonym from tt ' ti rovided for the i
e ioia. p ynonym from the options provided tor the underlineq word in the giv
A good education system never seeks to INFRINGE upon the academic rj 3
(A) Encroach . } rights of its stakeholders.
roac (B) Dissent (C) Concur
(D) Comply (E)  Question not attempted
106. Select the most appropriate option to identify the incorrect segment in the foum\,-mg g
The dazzle and glamour / of money and success/ have gone to her head. entence.
(a) (b) (©)
(A) (c) only (BY ‘No error ©) (.
D) (b) onl ‘) : L.l o tempted @) only
(D) y (E)  Question not attemy
{} P-2/K12 16
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107, GER-1 % T G-I 1 ot ifer

-1 () Gelt-11 (T )
(a) TR ) 8 %_gmgék

(b) R i) fi T %

(c) o (ifi) e 160885
n 39
(@ e (v) e e —
ﬁ@mﬁmﬁﬁmwmmwmz
(A) (e, (-6 (Hiv), (@)-0) (B) (@i, (b)), (-v), (@)-G)
(© @H, OHQ) (0, (d)-i) (D) @), (b)), (€)(ii), (&)-iv)
(B) STHIA e
108. Select the most appropriate option for the translation of the following technical terms :
Gazetted Holiday
(A) TR STBRT (B)  WRTGfTeR TR (©) Truifa saema
(D) TWHR SR (E) Question not attempted
109. Frferad 3 & o1 ¥ 9 forior 1 G g ¥ -
(a) fowa-faer (B) - (©) E-TF
(D) UY-URIEH (E). IERA
110. Select the most appropriate Passive form‘ of the verb to fill in the blank in the given sentence :
By this time next week, the sound track of the film remixed by the sound technician.
(A) is being (B) has been (C) would have been
(D) had been (E) Quésﬁoh not attempted
111. Match List-I with List-IL
List-I (Word) List-II (Antonyms)
(a) Abundant (i) Callous
(b) Vague (if)  Scarce
()  Admonish (iii) Clear
(d) Sensitive (iv) Praise
Choose the most appropriate answer from the options given below :
(A) (i), (b)-(i), (0)-ii), (d)-iv) (B) (@0 (B-Giv), (-G, (d)-()
© (@) (b)iii), (©-v), @@ - () @Hv), B)-), ©-0) (@)
(E)  Question not attempted
112, “gell % TR R A S0’ i o €
(A) T o qefta (B) - 9gq Waed HT (©) ot s frrer

(D) swmE am (E),  STuRa o

113. Complete the sentence given below with the most appropriate word from the options provided.
The weary commuters through their evening newspaper while waiting for the train.
(A)  riff T (@) rift (C) riffled
(D)  rifled (E) Question not attempted

1} P-2/K12 17 P.T.O.



114. The word closest in meaning to TACITURN is :
Choose the correct option., e
(A) Garrulous (B)  Unrestrained (C) Communt
(D) Unexpressive (E) Question not attempted

115. Select the most appropriate option to fill in the blank,
She accepted the job the low salary.
(A) in spite of (B) in case of

(C) although
(D) though

(E)  Question not attempted

. g i p jven sen nce
116.  Select the most appropriate option using the correct Pref ix to the underlined word in the gIve

The airline graded me to the business c|

(A) up (B) mis
(D) out

ass on my return trip.
(C) in
(E) Question not attempted
117. Fill in the blank in the sentence below choosin
Most religions follow festival specific
(A) rights (B) rote
(D) rites (E)

g the most appropriate word from the options giv >n.

(C) writes
Question not attempted
118. ‘3% fafem 1 e O e T & e @ W) 3SR FTRoT BT
(F1 ¥ Q@ Wt sugem foere 99) :
(A) Appointment letter sent to him
(C) Appointment has send to him

(E) o1quRd v

(B) _ Offer to appointment send to his
(D) Offer of appointment has been sent to hirm

119. Fill in the blank choosing the appropriate Article ffom the options below.
I think it is going to rain. Do you have raincoat I can borrow for a couple of hours
(A) a (B) an (C) the
(D) no article (E) Question not attempted
120. “=sar’ @ faem B
(A) Zgw (B) W ©) fw=n
(D) =@ (E) 31gafa we
121. "o’ wreg 1 oin for ol & i R w2
(A) HfEm (B) fafeem (©) s
(D) Erw (B) ergafa we

122. Select the most appropriate option to transform the given sentence
The interviewer asked me, “Can you use a computer ?”
(A) The interviewer questioned me whether I can use a computer.
(B) The interviewer asked me if I had used a computer.
(C) The interviewer wanted to find out if I used a computer.
(D) The interviewer asked me if I could use a computer.
(E) Question not attempted

into Reporteq Speech.

18
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- 23. ﬁﬁ%mﬁ@ﬁ?‘ﬁ’m%w%?

124.

15.

1 6.

1 7.

1 8.

172 ).

(A) TR (B) hatl (C) Hueh
(D) HI (E) orafa we
Match t.he underlined words in List - I with most suitable Suffixes from List - II.

== List - IT
(@) A country that needs to be taken care of is poverty ; (i)  proof
(b) A person who can be depended upon is trust : (ii)  conscious
(c) A bullet vehicle saves lives. (iii) worthy
(d) Businessmen are very money ) (iv) ridden
Choose ﬂ“f most aP__PfOPriiffe answer from the options given below :
(&) (H), (DM, (-t () (B)  (a)-(ii), (b)-i), (0)-Giv), (d)-(0)
(© @), O, ©-(iiD), (d)-iv) (D) (a)-iv), (b)), (0)-() (d)-iD)
(E) Question not attempted
frfatad 9 39S fofaa o< ¥ :
(A) IR (B) Schd (©
(D) (E) oTgaRd e
Select the most appropriate option to write the date in a formal letter out of the options given below :
(A) 18th Feb. 24 (B) 18.2.2024 (C) 18/02/2024
(D) 18 February, 2024 (E) Question not attempted
T TR W & e gt fehe fRa B S § 2
(Fr & 9 wae Suger fashed 1)
(A) eichiiereh fepam (B) HehHe foham ©) wafwEa
(D) diftr foma (E) STFaRd wed
Select the most appropriate option to transform the given sentence to Passive Voice.
Most of the class is reading J.K. Rowling’s novel.
(A) JK. Rowling’s novel was being read by most of the class.
(B) JK. Rowling’s novel has been read by most of the class.
(C) JK. Rowling’s novel is reading by most of the class.
(D) J.K. Rowling’s novel is being read by most of the class.
(E) Question not attempted '
Felt-1 % T Gelt-11 1 T i |

-1 ( et o7ex ) il-11 (T fdt ore )
() HONORARIUM (i) T
(b) ILLICIT (i) U
() EXCAVATION (ii)
(d) GRATUITY (v) Ffs
ﬁmmwﬁamwwmwm: )
(A)  ()-(iii), (b)-(iv), (c)-(i), (d)-(ii) (B)  (a)-(ii), (b)-(i), (c)-(iv), (d)-(iF)
© @-G), (b)-(ii), (c)-(ii), (d)-(iv) (D) (a)-(iii), (b)-(ii), (c)-(1). (d)-(iv)
(B)  orgaf we

{t P-2/K12 19 P.T.O.
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jons giv 2n.
130. Fill in the blank in the sentence below choosing the most appropriate word from

The little boy refused to walk any _____ claiming that he was tired.

(A) farthest (B) far () farther
(D) further (E) Question not attempted

131. ‘Defendant’ & Tt wmmIelers vt ©
(A) 3Lt (B) PIGEIE (©) Egaisill
(D) =N (B)  oTafa v

132. Select the most appropriate ANTONYM of the underlined word in the following sentence.

It is a common hypothesis that heavy taxes on cars can solve all the traffic congestions of a city .
(A) Equivocation (B) Evasion (C) Fact

(D) Delusion (E)  Question not attempted

133.  Choose the most appropriate option for the following question.
The sequence of a formal letter is : '
(A) Sender’s Address, Receiver's Address, Salutation, Subject Body, Complimentary close.
(B) Receiver's Address, Date, Salutation, Subject, Body, Complimentary close.
(C) Receiver’s Address, Sender’s Address, Date, Salutation, Subject, Body, Complimentary ¢ ose.
(D) Sender’s Address, Date, Receiver's Address, Sub]ect Salutation, Body, Complimentary ¢ ose.
(E)  Question not attempted :
134. Select the most appropriate alternative to fill in the blank in the following sentence.
I like swimming large rivers. o
(A) over (B) from = & (C) into
(D) across (E) Question not attempted
135. Frefafed § @ ‘anfy’ v ol
(A) TeaT (B) i ©) sl

(D) e (B) erqafa W
136, ‘I H WA R
(A) =gsife (B) 5

Q) Fjury
(D) d<qeH (B) or{afa uA

137. Select the most appropriate option to transform the given sentence into Reporte d Spacch,
Ram said, “I worked with a Japanese company last month.” y
(A) Ram said that he has been worked with a Japanese company last mongy,
(B) Ram said that he had worked with a Japanese company the previoys month,
(C) Ram said that I worked with a Japanese company last l“mlth..
(D) Ram said that he has worked with a Japanese company Previous mong,
(E) Question not attempted

20
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138. Frafafaa o 4 €T T 1 w79 i

(A) A 3R - Office Order (B) 378 TN F - Demi Official (D.O)
(C) SRS - Notification (D) 3{EARF - Circular
(E) STIORA ¥¥

139. Choose th? most appropriate statement in comparative degree from the options provided, for the
sentence given below : ’
Kerala is the greenest state in India.
(A) Kerala is much green as any other state in India.
(B) Most states in India are greener than Kerala.
(C) Kerala is as green as any other state in India.
(D) No other state in India is greener than Kerala.
(E) Question not attempted :

140. ‘TCqEd HAE E UEE
() TR (b) WEH () SWRM  (d) WWER  (¢) 3HEDT
e e T faenedl | Aaifire Suged ST 1 94 I ;

(A) Fad (a), (b) 3R (c) (B) e (b), (d) 3R (e) (C)  Faa (a), (d) 3 (e)
(D) F (b), (©) 3 (e) (B) orgaRa ¥
141, GEA-1 & 9o Ge-11 1 s Fifsg)
-1 (Ve5RT) er—n(aquﬁ)
(@) WS M =
(b) TRy @ ¥ =
() foim (i) R
(d) i (iv) uﬁf
1 fa T foedt F 4 waifiren SUgEA ST H1 99T HIT :
(A)  (a)-(ii), (b)-(ii), (c)-(), (d)-(iv) (B)  (a)-(ii), (b)-(i), (o)-(ii), (d)-(iv)
Q)  (a)-(iv), (b)-(i), (c)-(iii), (d)-(ii) (D)  (a)-(iv), (b)-(1), (c)-(id), (d)-(iii)
(B) STIaRd ¥ed

142. Fill in the blank choosing the suitable Article from the options below.

Itake ___ hour to reach my office.
(A) the (B) no article (C) a
(D) an (E) Qu;ést%qn not attempted

I { 2 [y Ok
143. Select the most appropriate option to fill in the blank with the appropriate form of the verb :
I would love to go out with you tomorrow but 1 dinner with Arvind.

(A) mustbe having (B) do have (C) will hardly have
(D) am having (E) Quesﬁon not attempted

144. Select the most appropriate option for the translation of the following technical term :
Circular
(A) Rex (B) 3TTAH (© S
(D) ufmm (E) Question not attempted

Lt P-2/K12 21 P.T.0.



145, ‘sider’  EEEE

(A) ST (B) YU ) %
(D) wgsiife (E) STgafa e

146. Frafafad @ o '5a’ vor & am | Fifq w82
(A) T (B) dfswh ©) FA
(D) 3ifea (E) ST we

147. Select the most appropriate option to fill in the blank :

: . onditions, we call i
When an offer is made to carry out work or supply goods with certain terms and €

a/an . )
(A) Tender (B) Agreement (C) Notice
(D) Contract (E) Question not attempted
148. frefafea § @ srys fafea = @ -
(A) B R IR (B) ¥ e g (C) H SEGLTE ATl
(D) ST (B) 3Tgafd 7
149. -1 & T GeRt-11 1 e nife |
-1 ( Rrew) Fe-11 ( 312 AT )
(a) SFITET () wHEE -
(b) e fear (i) TR-TR R
(c) e Gien T (i) TS H @
(d) THBHET (iv) e fag e
i e T frmed § @ waifues SUgeR IR S 9 FIT ;
(A)  (a)(idi), (b)-(0), ()-(iv), (d)-(ii) — (B)  (@)-(), (b)-(iv), (0)-(1), (d)-(iii)
Q) (a)-(), (b)-(iii), (c)-(ii), (d)-(iv) - (D) @-Gv), 0)-(), ()-(), (d)-(iii)
(E) s1gafd g :
150. ‘e’ YA R :
(A) = (B) o/

© =
(D) = (E) 3rgafa wH



